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Ideals for irreducible componentfbf Xpar

I =W —u® 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 82 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 844" + .- + 8u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! uP? 430 -+ 3u+ 1
C2,C6 w2 -t 4 —u41
3 ub? 4~ Bu 42
C4,C10, C11 w2 -t 4 —u 41
Cs, C8 uB? - ... —383u+ 37
c7,C12 w2 —3u¥ + ... —55u+ 56
€9 u® + 19uB! + -+ 4 5211w + 283




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 V2T oy 4+ 1
¢z, Cg Y2 — 43yt . 3y +1
c3 v 38 . 25y + 4
€4, €10, C11 Y2+ 73y% =3y + 1
cs, Cg y®% + 53y8 + .- + 11449y + 1369
7, C12 Y32 + 578 + ... + 137423y + 3136
€9 32 + 13y + - -+ 4 2040325y + 80089




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = 0.955352 + 0.2938821 —0.49000 — 3.372551 0.+ 7.862631
= 0.955352 — 0.2938821 —0.49000 + 3.372551 0. — 7.862631
u = 0.816926 + 0.5825601 —0.09685 — 9.754501 0. + 8.565501
u = 0.816926 — 0.5825601 —0.09685 + 9.754501 0. — 8.565501

u = —0.804317 4 0.5803831

5.07118 + 6.085831

7.27321 — 7.726991

u = —0.804317 — 0.5803831

5.07118 — 6.085831

7.27321 4 7.726991

u= 0.976357 + 0.1065481 —6.89382 4-1.350427 | —8.09485 + 0.1

u= 0.976357 — 0.1065481 —6.89382 — 1.350421 | —8.09485 4 0.1

u = 0.780556 + 0.5720281 3.12382 — 2.341671 4.61313 4 2.849451
u = 0.780556 — 0.5720281 3.12382 4 2.341671 4.61313 — 2.849451
u = —0.813516 + 0.4986781 —3.07012 + 1.934661 0. —4.430031
u = —0.813516 — 0.4986781 —3.07012 — 1.934661 0.+ 4.430031
u = 0.760520 4 0.5752961 3.18119 — 2.213231 4.97236 + 4.237901
U 0.760520 — 0.5752961 3.18119 4 2.213231 4.97236 — 4.237901
u = —0.733948 + 0.5854471 5.27270 — 1.477701 8.11976 + 0.849521
u = —0.733948 — 0.5854471 5.27270 4+ 1.477701 8.11976 — 0.849521
u = —1.038490 + 0.2477391 —5.58353 + 6.551821 0

u = —1.038490 — 0.2477391 —5.58353 — 6.551821 0

u = 0.718789 4 0.5910711 0.18371 + 5.124541 3.29871 — 1.935321
uw= 0.718789 — 0.5910711 0.18371 — 5.1245471 3.29871 + 1.935321
u = —0.870197 4- 0.1491701 —1.47910 + 0.557121 —4.57771 — 0.316761

u = —0.870197 — 0.1491701

—1.47910 — 0.557121

—4.57771 + 0.316761

u = —1.062130 4 0.4255171 —5.33957 + 6.561531 0
u = —1.062130 — 0.4255171 —5.33957 — 6.561531 0
u = 1.093670 + 0.3577241 —0.62091 — 3.370161 0
u= 1.093670 —0.3577241 —0.62091 + 3.370161 0

u = 0.186761 4 0.7937811

—3.11263 + 10.807201

0.45907 — 6.861981

u = 0.186761 — 0.7937811

—3.11263 — 10.807201

0.45907 + 6.861981

u = —0.190528 + 0.7843541

2.19850 — 7.142891

5.14145 + 6.392791

u = —0.190528 — 0.7843541

2.19850 + 7.142891

5.14145 — 6.392791




Solutions to I} Vv—1(vol + /—1CS) Cusp shape
= —1.147130 4 0.3430211 —3.17720 4 0.085341 0
= —1.147130 — 0.3430217 —3.17720 — 0.085341 0

0.189777 + 0.7630231

0.52237 + 3.328311

2.43416 — 1.636041

0.189777 — 0.7630231

0.52237 — 3.328311

2.43416 + 1.636041

—0.149056 + 0.7682571

—5.84541 — 2.276611

—2.42027 + 2.245791

—0.149056 — 0.7682571

—5.84541 + 2.276611

—2.42027 — 2.245791

—0.634881 + 0.4512881

—2.63372 + 2.030811

2.46981 — 3.494241

= —0.634881 — 0.4512881

—2.63372 — 2.030811

2.46981 4 3.494241

—1.171210 4 0.3557811

—3.48236 4 0.269321

0

—1.171210 — 0.3557811

—3.48236 — 0.269321

0

0.210213 + 0.7469161

0.80429 + 3.320681

3.63756 — 3.484001

0.210213 — 0.7469161

0.80429 — 3.320681

3.63756 + 3.484001

—0.030138 4- 0.7692121

—8.37203 — 4.393501

—4.42980 + 3.669571

—0.030138 — 0.7692121

—8.37203 + 4.393501

—4.42980 — 3.669571

1.186530 + 0.3459241

—1.93546 + 3.483421

0

1.186530 — 0.3459241

—1.93546 — 3.483421

0

—0.232794 4 0.7204281

3.19797 + 0.237831

7.38580 — 1.369081

—0.232794 — 0.7204281

3.19797 — 0.237831

7.38580 + 1.369081

= —1.194950 + 0.3462191 —7.28468 — 7.093041 0
= —1.194950 — 0.3462191 —7.28468 4 7.093041 0
= 1.187990 + 0.3766091 —9.77179 — 1.545691 0
= 1.187990 — 0.3766091 —9.77179 4 1.545691 0
= 1.135180 + 0.5161021 —4.27730 — 0.860351 0
= 1.135180 — 0.5161021 —4.27730 + 0.860351 0

0.254021 + 0.7056151

—1.71544 — 3.789901

2.46470 + 2.686901

0.254021 — 0.7056151

—1.71544 + 3.789901

2.46470 — 2.686901

—1.145610 + 0.5176371

0.54284 + 4.450671

0

—1.145610 — 0.5176371

0.54284 — 4.450671

0

0.024127 + 0.7385501

—2.71130 4+ 1.671211

—0.69520 — 4.319901

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

0.024127 — 0.7385501

—2.71130 — 1.671211

—0.69520 + 4.319901




—0.341083 + 0.5080491

—3.35078 — 2.712531

2.28153 + 2.870541

= —0.341083 — 0.5080491

—3.35078 + 2.712531

2.28153 — 2.870541

0.428376 + 0.3549731

1.061290 4 0.1751671

9.58671 — 0.798561

= 0.428376 — 0.3549731

1.061290 — 0.1751671

Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.183260 + 0.4402581 —6.16175 + 2.537951 0
u = —1.183260 — 0.4402581 —6.16175 — 2.537951 0
u = 1.183560 + 0.4578691 —6.03690 — 6.019891 0
u = 1.183560 — 0.4578691 —6.03690 4 6.019891 0
u = 1.158060 + 0.5205651 —1.95947 — 8.077131 0
u = 1.158060 — 0.520565] —1.95947 4- 8.077131 0
uw = 1.196400 + 0.4363911 —11.94130 4+ 0.119301 0
u= 1.196400 — 0.4363911 —11.94130 — 0.119301 0
u= 1.168870+ 0.5195181 —2.33921 — 8.114531 0
u= 1.168870 — 0.5195181 —2.33921 + 8.114531 0
u = —1.194470 + 0.4621381 —11.7595 4 8.84691 0
u = —1.194470 — 0.4621381 —11.7595 — 8.84691 0
u = —1.178340 4 0.5083401 —8.84661 + 7.009221 0
u = —1.178340 — 0.5083401 —8.84661 — 7.009221 0
u = —1.174810 4 0.52498471 —0.69320 4 12.003101 0
u = —1.174810 — 0.52498471 —0.69320 — 12.003107 0
uw= 1.178820 + 0.5261661 —6.0335 — 15.69461 0
u= 1.178820 — 0.5261661 —6.0335 + 15.69461 0
u
u
u
u

9.58671 + 0.798561




II. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 u®? +43uB + 4+ 3u+ 1
C2, Co Y T |
€3 u¥? P 4 —Bu+ 2
C4,C10, C11 T T R |
Cs, Cs u? — 7uPt ... — 383u 4 37
C7,C12 u®? —3uB + ... — 55u + 56
€9 u®? + 19u® + - -+ + 5211u + 283




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ Y2 Ty 49y + 1
C2,Cg y82743y81+73y+1
€3 y*? = 3y% + - — 25y +4
€4, €10, C11 YR T3y =3y 41
82 81
Cs, C8 Yoo 4+ 53y° 4 - + 11449y + 1369
82 81
C7,C12 Yoo+ 57y 4 .- + 137423y 4 3136
Co y82 4 13y81 4.

-+ 2040325y + 80089




